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QUESTION 1

When designing NSX-T for high availability with Layer 2 adjacency, what is the recommended number of NSX
Managers that should be deployed? 

A. 2 NSX Managers deployed using a load balancer 

B. 1 NSX Manager using vSphere for high availability 

C. 3 NSX Managers using a VIP address for Management 

D. 2 NSX Managers using a VIP address for Management 

Correct Answer: C 

 

QUESTION 2

Which statement is true about TraceFlow when used in an NSX-T Data Center deployment? 

A. Traceflow mirrors a source port for inspection. 

B. Traceflow allows you to inject a packet into the network and monitor its flow across the network. 

C. Traceflow allows you to perform a traceroute cmd between selected hosts. 

D. Traceflow enables IPFIX forwarding for the selected port. 

Correct Answer: B 

 

QUESTION 3

When creating a new Identity Provider (IdP) in Workspace ONE Access, which two methods are used to identify users?
(Choose two.) 

A. SAML Attribute 

B. NameID Element 

C. UserID Element 

D. User Attribute 

E. SAML Response 

Correct Answer: AB 

 

QUESTION 4

What are the three types of NSX-T Data Center installation workflows? (Choose three. ) 
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A. NSX-T for Bare Metal 

B. NSX-T for OpenBox 

C. NSX-T for VxRail 

D. NSX-T for Hyper-V 

E. NSX-T for KVM 

F. NSX-T for vSphere 

Correct Answer: AEF 

 

QUESTION 5

When creating a policy in VMware Carbon Black Cloud, what impact does setting the Target Value to Low have? 

A. Alerts Severity scores are raised by 1. 

B. Alerts Severity scores are raised by 2. 

C. Alerts Severity scores are lowered by 1. 

D. Alerts Severity scores are lowered by 2. 

Correct Answer: D 
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